ECE 320: Quiz#6 Name

DTL, TTL Logic - March 3, 2016

1) Implement the following logic for Y(A, B, C, D) using NAND gates (i.e. circle the ones)
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2) Implement the following logic for Y(A, B, C, D) using NOR gates (i.e. circle the zeros.)
Note: DeMorgan's Theorem is
AB=A+B

A+B=A4-B
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3) Determine the voltages and currents for the following DTL NOR gate
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4) Determine the voltages and currents for the following DTL NOR gate
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5) Determine the voltages and currents for the following TTL inverter

Vi ‘i Ib Ic
Lqy O, AV 32 53,8
+5V +5V
Y . ‘ £ 4
B0k S st g <L Te0un
V2
D VA1 o S
KV, ﬁ o |
YIRS l lcqas, m L6670

Load

Ib
5V
—
A Gj_: : }/beta=100 30k
O TGy

ﬁj@p - beta=0.1 ﬁ ]

; %ﬁ” %IE%)ZW* ﬂ

nex(Z )2 Sl
s Qaheq ke

Wind Energy Bonus! Assume a Siemens 2.3MW wind turbine was placed in Fargo.
How many kWh would this produce in 2015? (roughly equal to the pounds of coal
you would avoiding burning to produce this electricity).
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